



St. Louis County, Minnesota

Date of Report: 4/28/2025 11:57:12 PM

General Details

 Parcel ID:
 175-0074-00030

 Document:
 Abstract - 01072977

Document Date: 01/11/2008

Plat Name: MT IRON

Section Township Range Lot Block

Legal Description Details

35 58 18

Description: NW1/4 OF SW1/4 OF SE1/4 AND W1/2 OF SW 1/4 OF SW1/4 OF SE1/4

Taxpayer Details

Taxpayer Name LAINE VERNON F & LEANNA M

and Address: 8587 HWY 101

EVELETH MN 55734

Owner Details

Owner Name LAINE LEANNA M
Owner Name LAINE VERNON F

Payable 2025 Tax Summary

2025 - Net Tax \$284.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$284.00

Current Tax Due (as of 4/27/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$142.00	2025 - 2nd Half Tax	\$142.00	2025 - 1st Half Tax Due	\$142.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$142.00	
2025 - 1st Half Due	\$142.00	2025 - 2nd Half Due	\$142.00	2025 - Total Due	\$284.00	

Parcel Details

Property Address: 9587 HWY 101, IRON

School District: 2909
Tax Increment District: -

Property/Homesteader: LAINE, VERNON & LEANNA

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$13,900	\$41,600	\$55,500	\$0	\$0	-		
Total:		\$13,900	\$41,600	\$55,500	\$0	\$0	555		





St. Louis County, Minnesota

Date of Report: 4/28/2025 11:57:12 PM

Land Details										
Deeded Acres:	15.00									
Waterfront:	-									
Water Front Feet:	0.00									
Water Code & Desc:	-									
Gas Code & Desc:	-									
Sewer Code & Desc:	-									
Lot Width:	0.00									
Lot Depth:	0.00									
The dimensions shown are no	ot guaranteed to be s	urvey quality. A	dditional lot	information can be	found at					
https://apps.stlouiscountymn.						x@stlouiscountymn.gov.				
		-		Is (DET GARA	GE)					
Improvement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
GARAGE	1975	1,040	0	1,040	-	DETACHED				
Segment	Story	Width	Length	Area	Foundation					
BAS	1	26	40	1,040	FLOATING S	SLAB				
Improvement 2 Details (BARN)										
Improvement Type	Year Built	Main Floo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
BARN	0	936		1,638	-	-				
Segment	Story	Width Length Area		Foundation						
BAS	1.7	26	36	936	FLOATING S	SLAB				
		Improve	ment 3 D	etails (8X8 ST)						
Improvement Type										
STORAGE BUILDING	0	64 64				<u>-</u>				
Segment	Story	Width Length Are		Area	Foundation					
BAS	1	8 8		64	POST ON GR	OUND				
		Improvem	ent 4 Det	ails (QUANSE	Γ)					
Improvement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	1,530	6	1,536	-	<u>-</u>				
Segment	Story	Width	Length	Area	Foundation	on				
BAS	1	32	48	1,536	SHALLOW FOUR	NDATION				
		Improvem	ent 5 Det	tails (10X12 ST	7					
Improvement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	120		120	-	otyte code a best.				
Segment	Story	Width	Length	Area	Foundation	on				
BAS	1	10	12	120	POST ON GR					
Improvement 6 Details (TT STORAGE) Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Desc.										
Improvement Type	Year Built			Gross Area Ft ²	Basement Finish	Style Code & Desc.				
C	0	161		161	- Fa 4-41	<u>-</u>				
Segment	Story	Width	Length 23	Area 161	Foundation	ON				
BAS	0	7	/.5	101	-					





St. Louis County, Minnesota

Date of Report: 4/28/2025 11:57:12 PM

		Improveme	ent 7 Details (1	OX46MH STV					
Improvement Type	e Year Built	Main Flo	•	Area Ft ²	Basement Finish	Style	Code & Desc.		
STORAGE BUILDING 0			460 460		-	0.,.0	-		
Segment Story		/ Width			Found	lation			
BAS	1	10	46 460		POST ON	GROUND			
		Improvem	ent 8 Details (8	XX38MH ST)					
Improvement Type	e Year Built	Main Flo	•	Area Ft ²	Basement Finish	Style	Code & Desc.		
STORAGE BUILDIN		30	304 304						
Segmer	nt Story	/ Width	Length	Area	Found	lation			
BAS	1	8	38	304	POST ON GROUN				
		Improveme	ent 9 Details (1	2X56MH ST)					
Improvement Type Year Built		Main Flo	oor Ft ² Gross	Area Ft ²			Code & Desc.		
STORAGE BUILDIN	G 0	67	2	672	-	- -			
Segmer	nt Story	/ Width	Length	Area	Found	Foundation			
BAS	1	12	56	672	POST ON	GROUND			
	;	Sales Reported	to the St. Loui	s County Au	ditor				
Sal	e Date		Purchase Price		CI	RV Number			
02	/2008	\$70,000 (T	\$70,000 (This is part of a multi parcel sale.)			180731			
07	/2002	\$70,000 (T	\$70,000 (This is part of a multi parcel sale.) 147836						
		As	ssessment His	tory					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$13,900	\$26,600	\$40,500	\$0	\$0	-		
2024 Payable 2025	Total	\$13,900	\$26,600	\$40,500	\$0	\$0	405.00		
	201	\$13,900	\$27,700	\$41,600	\$0	\$0	-		
2023 Payable 2024	Total	\$13,900	\$27,700	\$41,600	\$0	\$0	416.00		
	201	\$13,900	\$25,600	\$39,500	\$0	\$0	-		
2022 Payable 2023	Total	\$13,900	\$25,600	\$39,500	\$0	\$0	395.00		
	201	\$12,700	\$22,100	\$34,800	\$0	\$0	-		
2021 Payable 2022	Total	\$12,700	\$22,100	\$34,800	\$0	\$0	301.00		
		1	Tax Detail Histo	ory					
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Lan	Taxable Bu d MV MV	•	tal Taxable M\		
2024	\$542.00	\$0.00	\$542.00	\$13,900	\$27,70	00	\$41,600		
2023	\$546.00	\$0.00	\$546.00	\$13,900	\$25,60	\$25,600 \$			
2022	\$372.00	\$0.00	\$372.00	\$12,700	\$22,10	\$22,100 \$34,800			





St. Louis County, Minnesota

Date of Report: 4/28/2025 11:57:12 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.